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AS. Do as directed. (2)

1) It was a remarkable place in many ways.
(Choose correct alternative to rewrite the given sentence as an exclamatory

sentence)

1. It was a remarkable place in many ways!

i1. How a remarkable place in many ways it was!

111. What a remarkable place in many wavs it was!

1v. What remarkable in many ways the place it was!

2) He spread out his professional equipment, which consisted of a dozen cowrie

shells.

(Choose correct alternative to rewrite the given sentence as a compound

sentence)

1. He spread out his professional equipment but it consisted of a dozen cowrie
shells.

i1. He spread out his professional equipment and it consisted of a dozen cowrie
shells.

111. He spread out his professional equipment that it consisted of a dozen cowrie
shells.

V. He spread out his professional equipment and it had consisted of a dozen

cowrie shells.



AG6. FInd the synonyms for the following words from

the passage. (2)
a. Confusing = Bewildering
b. hanging around = Dallied

c. difficult to understand = Obscure

d. magical effect = Enchantment



AS. Do as directed. 2)

1) It was a remarkable place in many ways.
(Choose correct alternative to rewrite the given sentence as an exclamatory
sentence)

2)

ANS:

1.
11.

111.
1V.

It was a remarkable place in many ways!

How a remarkable place in many ways it was!
What a remarkable place in many ways it was!
What remarkable in many ways the place it was!

He spread out his professional equipment, which consisted of a dozen cowrie

shells.

(Choose correct alternative to rewrite the given sentence as a compound
sentence)

1.

11.

111.

1Vv.

He spread out his professional equipment but it consisted of a dozen cowrie
shells.

He spread out his professional equipment and it consisted of a dozen cowrie
shells.

He spread out his professional equipment that it consisted of a dozen cowrie
shells.

He spread out his professional equipment and it had consisted of a dozen
cowrile shells.

1) What a remarkable place in many ways it was!

2) He spread out his professional equipment and it consisted of a dozen cowrie shells.



AS. Do as directed.

(2)

1) If I am physically assaulted, it will permit me to retaliate.

(Choose correct alternative to use ‘unless’)

1. Unless I am physically assaulted, it will permit me to retaliate.

i1, Unless I am physically assaulted, it would not permit me to retaliate.

1. Unless I am physically assaulted, it will not permit me to retaliate.

1iv.  Unless I am not physically assaulted, 1t will not permit me to retaliate.
2) The law will protect me against violent retaliation.

(Choose correct alternative to use a modal auxiliary showing ‘obligation’)

1. The law can protect me against violent retaliation.
1, The law could protect me against violent retaliation.

ANS:

1) Unless | am physically assaulted, it will not permit me to retaliate.

2) The law must protect me against violent retaliation.



AS Do as directed. (2)
1) The policeman refused to accept Soapy even as a clue.

(Choose the correct alternative to transform as a negative statement)

1) The policeman didn’t accept Soapy even as a clue.

11) The policeman had never accepted Soapy even as a clue.
111) The policeman didn’t accepted Soapy even as a clue.

1V) The policeman couldn’t accept Soapy even as a clue.

3) “Don’t you think that I might have had something to do with 1t?” said Soapy.
(Choose the correct alternative to change the sentence into indirect speech)

1) Soapy asked if he didn’t think that he might have something to do with
that.

11) Soapy asked 1f he didn’t think that he might have had something to do
with that.

111) Soapy asked 1t he didn’t thought that he might have had something to
do with that.

1v) Soapy asked 1f he didn’t think that he might had had something to do
with that.|

Ans: 1) The policeman didn’t accept Soapy even as a clue.

2) Soapy asked if he didn’t think that he might have had something to do with that.



AS. Do as directed. (2)

1) If you have ordered something online you can track the location of your goods in
transit.

(Choose correct alternative to use ‘After+ing’)

1. After you have ordering something online, you can track the location of your
goods 1n transit.

1. After ordering something online, you can track the location of the goods mn

transit.

1. After you have ordered something, you are tracking the location of your goods
in transit.

1iv.  After ordering something online, you can tracking the location of your goods
in transit.

Ans: . . . . . .
e 1) After ordering something online, you can track the location of the goods In transit.



2) Big data analytics is the complex process.

(Choose correct alternative to change the sentence as negative sentence)

1.  Big Data analytics 1s not the complex process.
11.  Big Data analytics 1s not a compound process.
111.  Big Data analytics 1s not an easy process.
1v.  Big Data analytics 1s not the simple process.

Ans: ) Big Data analytics is not an easy process.

1L I camouflaged the hide...

(Choose correct alternative that has Simple Present Tense form.)
a) I camouflage the hide

b) I am camouflaging the hide

¢) [ have camoutflaged the hide

d) I can camoutlage the hide

Ans: _
. | camouflage the hide.



Do as directed. (2)

1. The langur is the most reliable in finding clues in jungle about predators.
(Choose the correct alternative that gives the transformation of the given
sentence in Positive Degree)

a. No other animal 1n jungle 1s as reliable as langur 1 finding clues about
predators 1n jungle.

b. No other langur 1s as reliable as other animals 1n finding clues about
predators 1n jungle.

c. Langur 1s as reliable as other animals m jungle in finding clues about
predators.

d. Very few animals 1n jungle are as reliable as langur 1n finding clues about
predators 1n jungle.

Ans:

.No other animal in jungle is as reliable as langur in finding clues about predators in jungle.



Do as directed. (2)

i.

ii.

Not only did I have a very weak vocabulary, but my pronunciation also
was terrible.
[Choose correct alternative to rewrite the sentence as a simple sentence]
a. Ihad a very weak vocabulary with terrible pronunciation.
b. Ihad a very weak vocabulary and my pronunciation was terrible.
c. Idid have a very weak vocabulary along with terrible pronunciation.
d. Ihad a weak vocabulary as well as terrible pronunciation.
I felt extremely humiliated.

[Choose correct alternative to rewrite the sentence using the noun form of
the underlined word.]

I felt extremely humiliation.
I felt extremely humiliating.
I felt extreme humiliation.
I felt extreme humiliating.

~ae o

| had a very weak vocabulary with terrible pronunciation.

. | felt extreme humiliation.



SET 2: Q. 1B NON-TEXTUAL GRAMMAR (4 Marks)
Q. 1 B1 Do as directed/ Transformation of the sentences. (4)
Choose correct alternative to transform the sentence into a simple sentence.

1. Tknow that he has stolen the necklace.
a. [know he stole the necklace.
b. Iknow him to have stolen the necklace.
¢. Iknow him to be a thiet of the necklace.
d. Tknow him as he stole the necklace.
2. The sword that 1s made of pure steel 1s brought from India.
a. The pure steel sword 1s brought from India.
b. The steel sword 1s pure and brought from India.
¢. The sword from India 1s pure steel.
d. The pure sword from India 1s steel.

Ans: | know he stole the necklace.

The pure steel sword is brought from India.



(2

Ans:

They took shelter under a building because they were tired by walking.

a. They took shelter under a building as they were tired by walking.

b. Taking shelter under a building, they were tired by walking.

c. Tired by walking, they took shelter under a building.

d. They were tired and took shelter under a building.

Not only did his teachers gave him enough practice, but his parents too.

a. His parents with his teachers gave him enough practice.

b. His teachers and the parents gave him enough practice.

c. Besides his teachers giving him enough practice, his parents gave practice also.
d. Besides his teachers giving him enough practice, his parents did the same.
He was a mere student but he offered to solve the problem.

a. He was a mere student who oftfered to solve the problem.

b. In spite of being a mere student, he offers to solve the problem.

c. In spite of a mere student, he has offered to solve the problem.

d. In spite of his being a mere student, he offered to solve the problem.

Tired by walking, they took shelter under a building.
His teachers and the parents gave him enough practice.

In spite of his being a mere student, he offered to solve the problem.



6. He must not be absent or he will be declared fail. / In the event of his being late, he
will be punished.
a. He will be declared fail when he 1s absent.
b. In the event of his being absent, he will be failed.
c. In the event of his being absent, he will be declared fail.
d. In the event of being declared tail, he will be absent.

Choose correct alternative to transform the sentence into a compound sentence.

1. Satish must work very hard to rescue his brother.
a. Satish must work very hard so as to rescue his brother.
b. Satish must work hard as well to rescue his brother.
c. Satish must rescue his brother and work very hard.
d. Satish must work very hard and rescue his brother.
2. The witness said that Mohan was guilty. / He declared his innocence.
a. The witness told that Mohan was guilty.
b. Mohan was guilty told the witness.
c. The witness confirmed Mohan’s guilt.

d. The witness found Mohan guilty.

ADS: |1 the event of his being absent, he will be declared fail.

Satish must work very hard and rescue his brother.
None of the above.



3. The citizens who have paid the taxes are always respected.
a. Tax paying citizens are always respected.
b. The citizens paid the taxes and get respect.
c. The citizens paid the taxes for respect.
d. The citizens pay the taxes and are always respected.

4. The interviewer was annoyed that he had not answered his queries.
a. The interviewer was annoyed as he had not answered his queries.
b. The interviewer was annoyed at his not answering his queries.
c. The queries were not answered and the interviewer was annoyed.
d. The interviewer was annoyed at answering his queries.

5. I was surprised when I heard him reveal the secret. / I was surprised to hear him talk
SO.
a. I was surprised to hear him reveal the secret.
b. I was surprised for his revealing of the secret.
c. I was surprised to hear his revealing the secret.
d. I was surprised to hear his reveal the secret.
Ans:

None of the above.
The queries were not answered, and the interviewer was annoyed.
None of the above.



Choose correct alternative to transform the sentence into a complex sentence.

1. Search his room and you will find the clue.
a. If you searched his room, you would find the clue.
b. If you search his room, you found the clue.
c¢. If you search his room, you will find the clue.
d. If you searched his room, you will have found the clue.
2. The luggage was not mlsplaced but 1t was kept deliberately.
a. The luggage was not m1sp ace but kept deliberately.
b. The luggage was not misplaced although 1t was kept deliberately.
¢. The luggage was kept deliberately although 1t was not misplaced.
d. The luggage was kept deliberately to misplace it.

Ans: If you search his room, you will find the clue.

None of the above.



Choose correct alternative to Frame a wh question to get the underlined answer.

1. Some thugs tried to snatch her gold cha.
a. What some thugs tried to snatch?
hat did some thugs tried to snatch?
hat some thugs snatch?
hat did some thugs try to snatch?
2. Arunima was retrained as a mountaineer.
hat was Arunima retrained as?
hat was Arunima retrained?
hat did Arunima retrain?
hat was retrained Arunima?

£

S

Ans: What did some thugs try to snatch?

What was Arunima retrained as?



3. An exceptional battle had begun inside the train on the move?

a. Where had an exceptional battle begun on the move?

b. When had an exceptional battle on the move begun?

c. Where had an exceptional battle begin on the move?

d. Where an exceptional battle had begun on the move?

4. With the help of the technology, I started responding the treatment.
a. How | started responding the treatment?

b. How did | started responding the treatment?

c. How I start responding the treatment?

d. How did I start responding the treatment?

5. Ishita invites my family members on my birthday for celebration.
a. When Ishita invited my family members for celebration?

b. When Ishita invite my family members for celebration?

c. When do Ishita invite my family members for celebration?

d. When does Ishita invite my family members for celebration?
Ans:

Where had an exceptional battle begun on the move?
How did | start responding to the treatment?
When does Ishita invite my family members for celebration?



Choose correct alternative to make the given sentence exclamatory.

1. You performed the very energetically in front of the visitors.
a. How energetically in front of the visitors you perform!
b. How energetical in front of the visitors you performs!
c. How energetically in front of the visitors you performed!
d. How energetically you perform in front of the visitors!
2. You have narrated a very romantic book.
a. What have you narrated a very romantic book!
b. What book you have narrated a very romantic!
c. What a romantic book you have narrated!
d. What a romantic book you have narrate!

Ans: How energetically in front of the visitors you performed!

What a romantic book you have narrated!



Choose correct alternative to make the given sentence negative.

1. Sunita 1s the most loyal employee of our firm.
a. Sunita 1s not the most disloyal employee of our firm.
b. Sunita 1s the most not disloyal employee of our firm.
¢. No other employee of our firm 1s as loyal as Sunita.
d. No other employee of our firm 1s the most loyal as Sunita.
2. As soon as he entered the room, he noticed the unusual presence.
a. Assoon as he entered the room, he did not miss the unusual presence.
b. As soon as he entered the room, he unnoticed the unusual presence.
¢. No sooner did he entered the room than he noticed the unusual presence
d. No sooner did he enter the room than he noticed the unusual presence.

Ans: No other employee of our firm is as loyal as Sunita.

No sooner did he enter the room than he noticed the unusual presence.
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13.
14.
15.

. 1 B2 Spot the error and rewrite the correct sentences.

The number of people do not matter.

I am liking to see movies at the theatre.

I never forgets the given responsibility.

He has often ask me to think betfore I speak.

No sooner did I challenged the man than he accepted it.
We are the more strongest community in the world.

I entered the room for search the documents.

We can plant the trees in order saving the earth.

I usually asks my employees to be punctual 1n their tasks.

. The training came to an end before you left the city.
. If you challenge me, I had accept 1t.

The manager was looking into the missing file.

She 1s more taller than all her brothers in the famaily.
He said he did not wanted to go to bazaar yesterday.
Mango 1s the bestest among all the Indian fruaits.



Ans:

1. The number of people does not matter.

2. 11

ke to see movies at the theatre.

3. | never forget the given responsibility.

4. He has often asked me to think before | speak.

5. No sooner did I challenge the man than he accepted it.

6. We are the strongest community in the world.

7. | entered the room to search the documents.

8. We can plant the trees In order to save the earth.

9. I usually ask my employees to be punctual in their tasks.
10. The training had come to an end before you left the city.
11. If you challenge me, | will accept it.

12. T
13. S

ne manager was looking for the missing file.
ne Is the tallest of all her brothers in the family.

14. H

e sald he did not want to go to bazaar yesterday.

15. Mango Is the best among all the Indian fruits.
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